Andhra Pradesh State Council of Higher
Education

Notations:

1.0ptions shown in green color and with +" icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name:

Subject Name:
Creation Date:
Duration :
Total Marks :
Display Marks:

Share Answer Key With Delivery Engine :

Change Font Color:
Change Background Color :
Change Theme:

Help Button:

Show Reports:

Show Progress Bar :

Mathematical Sciences 11th June 2025 Shift
1

Mathematical Sciences
2025-06-11 12:22:20
90

100

No

Yes

No

No

No

No

No

No

Mathematical Sciences

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

1
83214762
0

90

No

No

0

100

Mathematical Sciences

SectionId :
Section Number:
Section type:

83214762
1
Online



Mandatory or Optional : Mandatory

Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 83214762
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8321476101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let (C,+,) and (R, +,) be respectively the field of complex numbers and the field of real
numbers. Then dim g€ =

(C,+,) 20k (R, +,) e 8w éoégéoaﬁé é@ﬁfm 00T &R éowg g@ﬁmm "mﬁé
dimpC =

Options:
1.8 X

-2

Question Number : 2 Question Id : 8321476102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let My(C) = [(‘EI z

dimension of the vector space M, (C) over the field of real numbers (R, +,-) is
Sodomry 5208 € 8 My(0) = {(‘; 3) Jabede c] m ol i oy Yo

(R,4)3 My(0) ) S0imraty

)/a,b,adEC], where C 1 the set of complex numbers. Then the

Options :



Question Number : 3 Question Id : 8321476103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following sets 1s not a basis of R% over the field (R, +,) of real numbers”

BoB $53008° 36 a5 Hoges §8 (R,+,) 2 R* 8 epdibo sth?

Options :

{(1,0), (0, —1)}

1. %

2. %

_, {20,000
i {(11_1)1(_2r2)}

Question Number : 4 Question Id : 8321476104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



X -x
The dimension of the subspace I¥ = {(y , ) [%y,2€ R] of the vector space M, (R) of 2 2

matrices over the field (R, +,") of real numbers is

85 0 §n (R, 4) D 2 X Lio@lo Shmostin My(R) % aiboseby

W= [(; -zx)/x,y,z g R] Cﬁl)é& n0Pes

Options :

4, %

Question Number : 5 Question Id : 8321476105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For the subspaces I¥; = [ C g) [xy,2€ R] and W, = [(g S) [x2€ R] of the vector space

My (R) of 2 x 2 matrices are over the field (R, +,') of real numbers, the dimg(Wy NW,) =
TR HogRs gkﬁm (R 4,) 2 2% 2 r@8o Somodtméiin My(R) Gk, sarosree

Wi

{(; g)/ X,,2 € R} 0ay

A {(S 2)/x,zER]o§.:dnnR(W1nW2):

Options :

1
1.¢¥



Question Number : 6 Question Id : 8321476106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[fT: R? - R% is a linear transformation defined by T(1,0) = (2,3) and T(0,1) = (~1,1), then for
(a,b) € R%, T(a,b) =
Roded Sdrdd T:RM2 = RA2 &0 T(1,0) = (23) b0 T(0,1) = (-11) e K)tiogﬁ)?fon,

(a,b)€R*S T(a,h)=

Options :

(2a + 3b,0)

(2a — b,3a + b)

2.9

(2a 4+ b,3a — b)
3. %

(3a,—2b)
4, %

Question Number : 7 Question Id : 8321476107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If T:R®~ R% is a linear transformation defined by T(xy, x5, x5) = (, = Xy, X, = X3, X3 = Xp)
and 1f (a,b,c) € Ker T, then
S00eY SHER8 TR = R3S T(x, 15,3) = (1~ Xy, Xy = g, X3 = Xp) 1P DGR,

(a,b,¢) € Ker T wond

Options :
a=b+c

1. %
2a = b+4¢

a+b+c=0

0 =h=p
4.

Question Number : 8 Question Id : 8321476108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Eigen values of the matrix (g i) are

2 2
Sr@8 (5 |) %) oS Denises

Options :
- 1,4

~1,4
2.¥
3« —L—4

1,—4



Question Number : 9 Question Id : 8321476109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 1 =l
The characteristic equationof the matrix {0 1 0 |18
i 3 1
i 3 =4
SP@BE |0 1 0 |8, orgeds HEEGeasw
[
Options :
AB—312441-2=0
1.¢

A2+3124+414+2=0
2. ®

A3—-322-41-2=0
3. %

AB+322+41-2=0
4, ®

Question Number : 10 Question Id : 8321476110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

L

cosfl  sin 9)
—sinf  cos @

sm@s (0 SN0 g engeBe Denssen

—sinf cosé

The Eigen values of the matrix (

Options :

cosf, sinf

- cosf, —sinf

3.¢



Question Number : 11 Question Id : 8321476111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

o L B i
IIA—(3 4).lhul
1 2
m@én_(g 4) oS
Options :
A2 —3A-21=0
1. %
A2 —54-2]1=0
2.%
A2 —3A—-41=0
A2 —54—-4] =0
4, %

Question Number : 12 Question Id : 8321476112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ol A e e
11A_(1 Zj,mum =
L 5 g
a":ov@éﬂ—(l 2)@&1326 AL =
Options :
Al = A+ 31

1. %



At = A+ 21

2. %

A = d =21
3. %

A =A-3I
4. ¢

Question Number : 13 Question Id : 8321476113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the linear transformation T:R* = R* is defined by T(a,b,c,d) = (24,00, + ), then the
tank p(T) and nullity v(T) of T respectively are
Somodoed S8 T:RY - R* T(a,b,c,d) = (20,0,0,c + ) e AN T Gk 6°6

(g08) p(T) nBo> &ridgden v(T) B

Options
L P =20 =2
L, D=1y =3
P =3 v(T) =1
L. PO =4v(D) =0

Question Number : 14 Question Id : 8321476114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In the inner product space R® with respect to the standard inner product, the unit vector orthogonal
o(22,-1) 1
aPsieeds w0t 0%1511: REE 504 (22,-1) % oo dod coeads 504

Options :

(1 -2 -2)
3 3% 3

1.4
o 3)
3'3" 3
2. %
(2 2 -1)
i
3 %
(—1 2 -2)
-
4, %

Question Number : 15 Question Id : 8321476115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the inner product space R® with respect to the standard inner product, the angle between the
vectors u = (4,1,8), v=(1,0,-3) is

viined¥ w086 oo B° 6° 080 1 = (418). v = (10,-3) 0 &ty Sy

Options :



sin™1 (— EMJ

9

s (V7D
4, ®

Question Number : 16 Question Id : 8321476116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If § ={a;, ..., ,} is an orthonormal subset in an inner product space V and if any f € V/, then
oo8begrosTEin & vorrdoon 65508 § = {ay, ..., 0} £Bck0 fEVE

Options:

i=11(B, ai)|* > 1B

(I_T, ﬁ) = Z?=1(ﬂﬁ ai)“ﬁ#ﬁ)

2. %

(a, B) < Xima, a;)a;, )
3. %

Yicil(B, apl® < IBII?
4.

Question Number : 17 Question Id : 8321476117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
On the set Q* = {r/r > 0,arational number}, the binary operation * is defined by a+ b =
a—;, ¥ a,b € (*. Then the inverse of an element a € Q' is
528 0° = {1/ 1> 0 sttt ton) D i 005 ¢ 0xb ==, ¥ € 0 m Xy 0R,
Srodii € Q" ang) 2%



Options :

8 lw

Rlw

ole

Question Number : 18 Question Id : 8321476118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The order of the element i in the group G ={1,-1,i,~i}, where i2= -1, under the
multiplication of complex numbers is

ol Somytein i, SEmidy = {1,-1,-1) 1 = -1 6 doreln | gy 4618

Options:

Question Number : 19 Question Id : 8321476119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



& : a a ; .
The identity element in the group G = [ (a a) [a€ERa% 0] with respect to matrix
multiplication is

S tomtitn i, $Em e G = () /0 €Ra# 0] 80 tretitn

Options :

(0

B =
B = B3] =

2. ¢

o =
= ] =

Question Number : 20 Question Id : 8321476120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The inverse of the element 3 in the group G = {1 3,5, 7] with respect to multiplication
modulo 813

e 8 tﬁﬁ}gﬂg, foesiSsio 8ot Koo G = {1,3,5,7} 6° meriin 3 Giog) HSjnn

Options :

3
1.¢



~l

2. %

5
3. %

1
4. %

Question Number : 21 Question Id : 8321476121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The index of the subgroup 4Z in the group (2Z, +) 1s
HHesesn (27, +) &° $H85esesn 47 oo K8

Options :

Question Number : 22 Question Id : 8321476122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Consider the following statements:
A.  Every quotient group of an abelian group 1s abelian.
B.  Every quotient group of a cyclic group 1s cyclic.
Then

808 efPraired Kokl

A DRSAD Saresrain @08 (58 H8)%) Srissn HHoD.
B. S8k Sikweiitn @ng) (38 H58) Sk Sgabin.

(SloW)

Options :
Only A 1s correct

A So(ad D50

1. %

Only B 1s correct

B S Hgam
2. %

Both A and B are correct
A. B en Bo&ir ﬁééa’m

3.¢

Both A and B are incorrect

A.B en Sotie @ﬁééa‘in
4, %

Question Number : 23 Question Id : 8321476123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: . . 123 4. :
The inverse of the permutation ( ) n Sy 18

1342

1234

SuEH i (1 342

) @) DS

Options :



e
et
R
-

Question Number : 24 Question Id : 8321476124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Order of the symmetric group S, 1s

QD DeeSn 54 G0E) SBKS

Options :
1. % 4

Question Number : 25 Question Id : 8321476125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The permutation (; i g ir g g ; 3 3) in g 15 a product of cycles.
” 123456789

SO (4 010 g g7 g) — SEUOED

Options :

1.4 3
2

2. %

30 4

4% O

Question Number : 26 Question Id : 8321476126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

i i JL234 58T g
The decomposition of the permutation ( ) into transpositions 1s

boZ243117

1234567

LE\]{%L.;‘ESE{MJ(GS24317

) o) dsch et

Options :
(16)(25) (27)

(16)(25) (34)
(16)(25) 47)

(16)(25) (23)

\;;?



Question Number : 27 Question Id : 8321476127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of generators of the cyclic group (Z,5,6D) are
iﬁ@cﬁ: e0IPeP (Z15,D) B a8 Sorersee ﬁoaaeg

Options :

Question Number : 28 Question Id : 8321476128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The set of generators of the cyclic group (Zg,6D) are
iﬁ{édﬁj 2SR (Zg,D) BnE) 2358 doreosre Sdbé

Options :

{1,2,4,6,7,8}



Question Number : 29 Question Id : 8321476129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The zero-element and the unity element in the ring (Z,%0), where Z is the set of integers and
axb=a+b+landaob=a+b+ab are respectively
Sppos $08 77 ohorf S68cdben '+ 0 "o € axh=a+b+1:H0c ach=

0+ b+ abm A0S0 (Z10) & 0 ~Saredin HOa 88 el SO

Options :
.

,ox L1

1,0

—1,1

4. &

Question Number : 30 Question Id : 8321476130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following rings 1s not an integral domain?

Bod Secsred® H6 FProl (DRELD s0e0?

Options :

(Z11,8,0)

1. %

(28:@:0}

2. ¥

(Z,+:)
3. %



(Q,+,)

4. %

Question Number : 31 Question Id : 8321476131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following rings 1s not a field?

8o Sedsred® 26 FBSn 505?

Options :

1.¢ (Z,+)
y (Qr +:)
2. ®

(R, +,)

3. %

(C: +r‘)

4. =

Question Number : 32 Question Id : 8321476132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The set of units in the ring (Q, +,-) 1s

Sochdn (Q,+,) & D&%y Srosre (CHrIE)) $H8

Options :
1. % Z
2. % (L-1
Q" =Q — {0}

3.¢



(1}

4.

Question Number : 33 Question Id : 8321476133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The set of idempotent elements in the ring (Z,,,O) is

PO (Z6,D,0)) ©00588 orrerste b

Options:

{0,2,3,4}

Question Number : 34 Question Id : 8321476134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The principal ideal generated by 5 in the ring (Zg,®,0) is
He0h5w (Z5,0,0) &° suredhn 5 3¢ edoded [Hees Clalepran

Options :



Question Number : 35 Question Id : 8321476135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The least upper bound of the set {1 i = /n€E N} IS

n

5208 {1+ /n € N} Ging) 535 o3 8
Options :
3
1.v 2
>
2. ® #
=
3. %
i
4% 2

Question Number : 36 Question Id : 8321476136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If 5, 1s a sequence defined by s, = 1 and 5, = /2 + 55, then lim s, =

ORISR Sy 0 51 = 1208 Sppq =2+ 5, P 365{’.@ lim s, =

Options :



Question Number : 37 Question Id : 8321476137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For the sequence {(—1)" n}. which of the following statements is false?

@E%Em {(=1)" n} % [Bod ePrdires® 30 @R E?

Options :

Oscillates infinitely

€93030es Esﬂaﬂéééa’m
1. %

Oscillates finitely

SlarAt:] @ﬂﬁﬁé@é&ﬁn
2.

Unbounded

9302083530
3 % =

Diverges to —oo only

—co £ é;wtééo ©NI000H
4. %

Question Number : 38 Question Id : 8321476138 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: n
lim, . oy —

(!
Options :
1

1.8 2

Question Number : 39 Question Id : 8321476139 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

WY % o e :
The series ( = x) is divergent 1f
o (1+nx\T
B Y (=) w50 0.
Options :
e s |
1. %
X1
2.9
x <1
3. %
: A |



Question Number : 40 Question Id : 8321476140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f Y, 1s a series of positive terms such that [im u.n1/ "= |, then )., converges if
GRed)S dero B8 Yup & lim ;™ = loond ¥ u, o8k Sohbd soard.

Options :

(<1

Question Number : 41 Question Id : 8321476141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the function f(x) = x2923  then liqul_f(xx):{(l) =
BRcHEw f(x) = 12922 wond limy_, _f(xi:{(l) -

Options :
2021

1. %

2022

2. %

2023
3. ¥

2024



Question Number : 42 Question Id : 8321476142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If [x] denotes the integer part of x, then the function f(x) = x = [x] is continuous at

TR gy x GI8) 4FPo8 gD [1] & "mﬂ)é o f(x) = 1~ [x] 408 & Dothide
ég @&J{J‘Jéé&om 60t0d?

Options :
All real values of x

Q) TR ﬁomém X e E{')ig

Every non-integer x

@) ?’.gjﬁgﬂ'oéétﬁ doggen x © a"atmﬁ

All rational numbers x

@) 88355 ﬁoanagﬂn X e zécg

All irrational numbers x

H E5e50% ﬁoa::gm X e éig
4. %

Question Number : 43 Question Id : 8321476143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: sl sin” ax : . :

For a # 0, if the function f (x) = —iE 0is continuous at x = 0 and f(0) = 1, thena =
sind

0% 0§ Ebodn f(x) == x # 0 Mdsfoded, x = 055 s)o H6at

P

£(0) =1 w08 a=



Options :
+2

1. %

=+
[ I S

Question Number : 44 Question Id : 8321476144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the function f(x) = % x # 0 then f has

Bibabsn f(x) =2 x # 0wand f&

Options:
Jump discontinuity at x = 0

r=0 :nag 03D SJEJJK:;Lé 60008
1.4

Removable discontinuity at x = 0

=10 a"::tg KJEJ“E% Q&Jé&é &0otoh

Finite discontinuity at x = 0
X =0 0 HODS V))& S0ewob

Infinite discontinuity at x = 0
x =0 38 ©HODS DN S sotod



Question Number : 45 Question Id : 8321476145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the function f(x) = x|x/|, then f'(x) =
DHbeHED f(x) = x|x| wa0d f'(x) =

Options :

1. % |X|

Question Number : 46 Question Id : 8321476146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2x 438, x5 2
¥ —1, 5.2

2x+3, x <2
e I

If the function f(x) = { , then

ond

@ababso f(x) = {

Options :
Lf'(2) = 3, Rf'(2) =4

1. %

Lf'(2) =2,Rf'2) =4

Lf'(2) =2,Rf'(2) =1

3. %



Lf'(2) =2,Rf'(2) =2

Question Number : 47 Question Id : 8321476147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The function f(x) = V25 — x? is decreasing in the interval :

Babohs f(x) = V25 — x? @b6%re 308 woSEsw .

Options :

(=5,5)

1. %

I“‘S,U]
2. %

(0,5]

(0,5)
4.

Question Number : 48 Question Id : 8321476148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
0

s " ; logx ;
The function f(x) = Tg has stationary value at

Bahodso f(x) = 10%‘ o ?gtﬂ Qe SOR Gokwnod.

Options :

e
1.4



L

Question Number : 49 Question Id : 8321476149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The value of ‘¢ " of Rolle’s theorem for the function f(x) = sinx in [0, 7] is

@osbw [0,7] & [Habadsn f(x) = sinx & &% ?ogoé@ 't Dend

Options :
T

Sk e

wlH

Question Number : 50 Question Id : 8321476150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The value of 'c " of Cauchy's Mean Value theorem for f(x) = v, g(x) = % in [a, b] is
00865 [0,b] 6° abkeen f(x) = Vx, g(x) =

1@
Vx

9 ntfsodd dend %goéa’g) ¢ dend

Options :

ab

1. %



=
3

2.
a+b

3. % 2
Vab

4% 2

Question Number : 51 Question Id : 8321476151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For the function f(x) = x on [0,1] and the partition P = {U,%,%i 1] of [0,1], the U(P, ) is
o8 [01] D f(x) = x ™ AWsdodads Babatdd %60t [0,1] Gho¥) gfesd
_fpl2 N _
B EESEENHE

Options :
1

1. %

B | =

W=

w |

Question Number : 52 Question Id : 8321476152 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



0, xisirrational .

If f(x) be the function defined on the [0,1] by )"(x)z{1 e

Prodr=— and () d=

s0dSi [0,1] 3 Eabdn () f(1) = {

0, X godat sony

I Q50
1, x etsden soug e

[ dx = ot [1fx) dx =

Options :

- 1,0

2. % L1

0,1
3.¢

—1-1
4. %

Question Number : 53 Question Id : 8321476153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f:[a,b] - R is a bounded function and if P* is a refinement of the partition P of [a, b], then
f:la,b] - R Soet bt 0k [a,b] %) Aesd P & P* e O3

Options:

L(P*f) 2 L(P,f)

1.4

Up,f) zU(P,f)

L(P*f) < L(P,f)

3. %



U(P*,f) = L(P°,f)

Question Number : 54 Question Id : 8321476154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1
f__lxlxlf.i.r—
Options :

0
1. %

1
2.v 3

-1

3
3. %

2
4% 3

Question Number : 55 Question Id : 8321476155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 rx
fﬂ fﬂ ydxdy =

Options :

8



W =

W |

Question Number : 56 Question Id : 8321476156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
f4fxz eY/* dx dy =
0 /0 :

Options:

3e*+ 7

3e* + 8

3ot —7

3.¢

3e*—8
4, %

Question Number : 57 Question Id : 8321476157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

s by T : T I d_
If the vector ¥ = acosti+ asint ]+ btk, then |d—:| =

dr|

308 T=acostT+asintj+ btk ond

Options :



VaET 2

b2 — q?
2. %
a’ + b?
_33
b* — g*
4. %

Question Number : 58 Question Id : 8321476158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The directional derivative of ¢ = x%yz + 4xz* at the point (1,~2,1) in the direction of the vector
2i-j-2kis
(batito ¢ = xPyz + 4zt 6 B (1,-2,1) 8 864 20-T- 2K 686 388 Gy

Options :
19
3
1. %
) % 37
3
19
3. %
37



Question Number : 59 Question Id : 8321476159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The maximum value of the directional derivative of ¢ = 2x% -y - z* at the point (2,-1,1) is
abotsn ¢ = 2x% -y -z* & Doty (2,-11) 515 B8 5y o) O Den

Options :

15

Question Number : 60 Question Id : 8321476160 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 7 = xT+ Y]+ zk and @ is a constant vector then & (@ )i+ L (@ 7)j+ i(ﬁ Tk =
ax 0x 0x
87 =114y + koo @ YosbEead (N + (@ 7+ (@ k=
Options :
.« 0
_ 2n
2. %
v @
3a
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the vector function F = (x + 3y)i+ (y - 22)j + (x + kz)k is solenoidal, then the value
b= -

6% ([Babadin F = (x4 3y)T+ (y = 22)] + (x + kz)k ¥8Poutsd eanis k o), el

Options :
v T2
2. % :
3. % 2
-1
2
4, =

Question Number : 62 Question Id : 8321476162 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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If & is a unit vector and 7 = X7+ ] + zk then curl(é - 7)é = ;

¢ o8 ComRES ¥08 0Bat 7= x4y + zkeand &G( € 7)€ = .

Options :

1. % €

el



]
p o
4|

Question Number : 63 Question Id : 8321476163 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I F = yi-xj and C is the arc of the curve y = % from (0,0) to (1,1, then | i Fdi=
S0 F = yT- xj $6a HE y = x* D dotbihen (0,0) 0l (1) © i 0% S8 TP

C oad [, F-d =

Options :
1

3

B | =

Question Number : 64 Question Id : 8321476164 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f S is a closed surface, V 1s the volume enclosed by § and 1t is the unit normal to §,
then [, 7-7ids =

Se8 éocf)aé 38 Soaw, § 3 é@eatg@é 5058 V S0k § & oS oondy i oawd

Jo Toids =



Options :

oV
1%
3V
2. ¢
2V
3. %
4V
4, %
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Display Question Number : Yes
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If C is the circle x* + y? = 1, then Eﬁc (xdy — ydx) =
x? +y? = 1 38 Srdodad Qs € 00N gSC (xdy — ydx) =

Options :

T
1. %

21

2. ¥

3

4
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I . il = _—
The general solution of the differential equation ﬁ =e* Y +x%e7V is
d . i
58 SEBm — = "V + x%e ™Y Gk Ferben P
Options :

3(e¥Y —eX¥) =x3+
1.¢

3(e¥—e¥)+x3=c

2. %
(e¥+e¥)+x3=c
3. %
(e¥—eX)=x3+¢
4. %

Question Number : 67 Question Id : 8321476167 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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. . . . : dy 3
The general solution of the differential equation log (a_) =ax+byis
X

oses $isdnn log () = ax + by Q) Frgrdes s

Options :

ae® — pe™? = ¢
1. %

ae®™ + be ™ = ¢
2. %

be™ + qge™ =¢
3.

. be ™% — ge? = ¢
4.



Question Number : 68 Question Id : 8321476168 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The integrating factor of the equation x%ydx — (x3 + y3)dy = 0 is

3880 xPydx — (x3 + y*)dy = 0 @) SErLe Hrssn

Options :

1

X

1. %

1

2

2. % 4
3.8 Y
1
4.+ o

Question Number : 69 Question Id : 8321476169 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The integrating factor of the equation 2xydy — (x* + y? + 1)dx = 0 is
$o88eso 2xydy — (x* +y2 + 1)dx = 0 Goo¥) S8R Hogatein

Options :
1
xz
1. %
xZ
2. ¥
1
X



Question Number : 70 Question Id : 8321476170 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
: . - : dy .
The integrating factor of the equation (1 - xz)a+ 2xy = xV1=1x%is

o xz_)% + 2xy = xV1 — x% ¥, Sirer Heshn

Options :

1
14x4

1+ x2

Question Number : 71 Question Id : 8321476171 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The orthogonal trajectories of the family of parabolas x? = 4ay are

DT 05 5’;}5&’3{\; xt=4dayo Go8) oo Kogsde 5’3555:‘;3

Options :



X —Jc =i
2. %
xZ }_,2
—_—_—=1
C 2C
3, %
xZ },2
> Gl
2c c
4.9

Question Number : 72 Question Id : 8321476172 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The orthogonal trajectories of the family of curves r™ = a™ cos nfl is

NP 5’3‘56’3§ " =a"cosnf & :ﬁné& 008 HoBsde Zﬁé&’)@

Options:

r’* =g¢sinnd
1.9

r’* = ccosnf
2. %

a™ = sin né
3, %

a™ = cosné@
4, %

Question Number : 73 Question Id : 8321476173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general solution of the equation xp? = (x — a)? is

5888 xp? = (x — a)? BooE) FeeSes JoGR



Options :

(v+c) = %x(x + 3a)?

1%

(v + )2 == (x — 3a)
2. %

(y+0¢)* = %x(x —3a)*
3.¢

() = %(x + 3a)
4. %

Question Number : 74 Question Id : 8321476174 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The general soluti f the equati =y + p?is
1e general solution of the equation x = y + p* 1s

58 BBeadn x = y + p? GBoE) FGeSes S

Options:

x=c+2[p+log(p—1)]

1. %

x =c—2[p+log(p —1)]
2.9

x=c+[p+loglp—-1)]
3. ®
Lo ¥=c—p+loglp—1)]

Question Number : 75 Question Id : 8321476175 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The general solution of the equation p = log(px — y) is
JpEBes p = log(px — y) Go¥), PGPBes PGS

Options :
y = xe*
1. %
_cx
,u e
y=x+e°
3. %

Question Number : 76 Question Id : 8321476176 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The complimentary function of the equation [(D 4+ 2)(D — 1)3]y = e* is
3888w [(D +2)(D - 1)%]y = €* GIng) B8 Babahisw

Options :

y = (c; + cx + c3x?2)e”*

1. %

y= (i + x +ca3x)e™* + e
2. %

y = (c1 + cax + c3x2)e* + cue™*
3.¢

yp=(c; +ax + czx2)e™™



Question Number : 77 Question Id : 8321476177 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The complimentary function of the equation [D? + 4]y = 4 tan 2x is

$8&%essm [D? + 4]y = 4tan 2x Qo) JeB8 [Svewt

Options :

C1 €OS 2x + ¢, sin 2x
1.4

€1 COSX + CpSinx
c1 cos4dx + ¢, sin4x

€4 COS 2x sin 2x

Question Number : 78 Question Id : 8321476178 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; : 1 ;
The particular value of the equation ﬁezx 1S

38088easn — e Gw) (HEE Dend
D-2 5

Options:

EEI



xezx

Question Number : 79 Question Id : 8321476179 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The particular integral of the equation (D? + a?)y = sinax is

S8k (D? + a?)y = sin ax Go¥) HEgE B08KHS enss

Options:
X
— L0 X
2a
1. %
X
—=—C0S dX
2a
2.9
x
——= LS (X
a
3. %
X
—COoS ax
[#
4, %

Question Number : 80 Question Id : 8321476180 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A part of the complimentary function of the equation
xy" =2(x+ 1)y + (x+2)y=(x—=2)e* is

S88esm xy" - 2(x + 1)y + (x + 2)y = (x — 2)e* Q¥ e88
BHODS0EE 2.8 griian

Options :
1. %



= =X
2. % X

e X

- €
3.~'/y

yre
4, %

Question Number : 81 Question Id : 8321476181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Equation to the plane through the point P on y —axis which is equidistant from the points
A=(4-37)andB=(2,-11)1s
y —op dothd P oo Sk, othiden A= (4,-37) 0 B=(2,-11) 0%

S48 b6 o S Qo) Sibemi

Options:
x—y+3z—17=1
1.9
b 3l =10
2. %
- Xx—yp+3z~—34 =1
X+3—38—~30 =10
4. ®

Question Number : 82 Question Id : 8321476182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The equation of the plane through the point (4,4,0) and perpendicular to the planes x + 2y +
2z=0and3x+3y+2z-8=01s

Aot (440) mooe e B Seberen 142y +22 = 050 3x 43y +22-8 =0
o 0RO 04 Hkdedy cfmé& RN

Options :

2x+4y+3z+8=0

1.%

2x+4y—-3z2+8=0
2. %

2x—4y—3z—8=10
3. %

2x —4y+3z2+8=0
4.

Question Number : 83 Question Id : 8321476183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The foot of the perpendicular from the origin to a plane is (2,-3,4). The equation of the plane is
2.8 ¥oserR8 Same Doty ol A w0 s (2,-34) won @ Ssesm Gn¥)

e
Options :

2x + 3y +4z = 29
1. %

2x — 3y +4z =29
2. v

2x =3y ¥9z=11
3. %



2x+3y+4z=11

Question Number : 84 Question Id : 8321476184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The angle between the planes 2x =3y +4z+11=0and 3x -2y -3z+27=01s
Sdereny 2x-3y+4z+11=0 H0kw 3x-2y-324+27=0 @K)Jéegéﬁa'am

Options :
6
1. %
T
2. % *
T
3
3. %
T
2
4. &

Question Number : 85 Question Id : 8321476185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The distance between the parallel planes 2x =2y +z+3=0and4x -4y +2z+5=01s
Nrodl dered 2 -2y +z+3=0 By 4x-4y+22+5=0 o Dl e

Options:

1. % g



b=

2. %
1
3¢ °
18
4. %

Question Number : 86 Question Id : 8321476186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the plane through the line of intersection of the planes x +y +z = 1 and
2x + 3y -z =—4and is parallel to x —axis is

S x+y+z=1&0cn w+3y-z=-4 @3(5?63&3@5@@%“ X ~®F08
SEPodtom 6og ek cﬁné& 308

Options:
¥ —3Z+6=0
1.4
y+3z+6=0
2. %
- ¥ —3Z—b=1l
L ¥ 3E—6=0

Question Number : 87 Question Id : 8321476187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



o o A -1 y-5 2-6 : \
If the lines Sl iy and e perpendicular, then the value of k 1

x=1 =2 7=} x=1 =5 =6
568 ooy — == === 5,805 A IR
-3 2%k 2 3%k 1 -
Options:
=10
1.4
10
7
2. %
-7
3 % 10
-7
4, ® e

Question Number : 88 Question Id : 8321476188 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The image of the point (1,3,4) in the plane 2x —y+z+ 3 =01s
odo 2x—y+z+3=0 5@@“{3 oty (1,3,4) ) ({8&own

Options :

(3.5.2)

1. %

(=3.5.2)
2. ¢

3 % (—3, —5:2)

L (3—=5—2)



Question Number : 89 Question Id : 8321476189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
: S Xt -3 2t i i
Equation o the plane containing the [ine 3371 and the point (0,7,-7) is

ey == 22 =22 s bt Bt (07, -7) i 80P S oy bt

Options :

- Xx—y—z2=1

- -t y—2=0

- T+ 8=0
x+y+z=0

4. v

Question Number : 90 Question Id : 8321476190 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. ' . - . o B0, YEL. 251
The distance of the point (~1,=5,~10) from the point of mtersection of the line e yT =

and the plane x =y +2 =51

o y+l 22

oo x;_z S 30a ndesd ¥ =y +2=15 o ot dotha) By Qothey
(-1,-5,-10)v 53655 Ao

Options :

10

1. %

2. % e



Question Number : 91 Question Id : 8321476191 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0

. x-6_y=1_2-7,
(1,2,3) from the line o yT =—is
-7

The perpendicular distance of the point P 2
-7

fothig P = (1,2,3) o8 668y == =127 = % eon trbin

2 2

Options :

Question Number : 92 Question Id : 8321476192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

3 2 gk . -
[f the line x_—? = % = % lies in the plane x 4 2y =z = 0, then the value of k 1s
1 y42 245
a&ﬁm%:%:%mm X+ 2y 2= 03 ¢oB, k dens
Options :
5

1.+
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Correct Marks : 1 Wrong Marks : 0

The radius and centre of the sphere through (0,0,0) and making intercepts 3,4,5 on the axes is

Doty (0,0,0) mesoe ke, w0 34,5 pomed 30 g agévgén

$060% Sosmen S84
Options :
-3 -5
5:(3-2%)
1. %

2. %

5 3 5

i (zr 25)
3. v

5v2: (3,4,5)
4, %
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The equation of the sphere with (1,2,3) and (2,3,4) as the ends of a diameter is

dothgen (1,2,3) HBad (2,34) o apgar(ficinenre o s Gho¥) 58085600

Options :

x4+ y24+2z243x+5y+7z4+20=0

1. %
x2+y%4+22—-3x—-5y—-7z—-20=0
2. ®
x2+y2+2z2+3x+5y+7z—-20=0
3. ®
x2+y2+22—-3x—-5y—7z+20=0
4, v

Question Number : 95 Question Id : 8321476195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The point of contact of the plane 2 = 2y + z + 12 = 0 and the sphere x% + y* + 22 + 2x -
by+2z2-3=01s
Shsodn -2y +2+12= 05000 B 12+ + 2+ -4y +22-3=0

038 9)8) dodiy

Options :
(-1,0,-2)

1. %

(-1,4,-2)
2.¢

(3,4,—2)
3. %



(2,-2,1)

Question Number : 96 Question Id : 8321476196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The pole of the plane x =y + 5z = 3 = 0 with respect to the sphere x% +y% + 2% = 9 is
o 1% +y? 478 = %Jg}éa“néefm x-y+5z-3= Oﬁné&tﬁaém

Options :

(3,—3,15)
1.4

tl.=15)

(3,3,15)
3. %

(3.~35)

Question Number : 97 Question Id : 8321476197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The radical plane of the spheres x? 4 y2+ 22 +dy=0and x2 4+ y2+ 22+ 2+ 2y + 22+
2=018
ey x+y2 428 +4y= 0800k 1 +y 422+ 2042y 4 2242 = 0o Smodeid

Options :
r+y+2+1=0

1. %

y—=w—=g+1=10
2. %



g gl =)

¥—gect 2 1=l

Question Number : 98 Question Id : 8321476198 Question Type : MCQ Option Shuffling : No
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The equation to the cone which contains the three coordinate axes and the lines

Y

ey

X
1

Lo |

L ..¥..2,
yTT=T=- 8
=1 1 1

Samly A rirgrois 00 Koelper ==L == == == oi 89h el

1

o) cﬁné& RANIoRI
Options :

byz—8zx —3xy =0
1.%

5yz+8zx +3xy =0
2. %

byz+8zx— 3xy=1
3.¢

Syz—8zx+3xy =0
4. %

Question Number : 99 Question Id : 8321476199 Question Type : MCQ Option Shuffling : No
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The equation of the cone with vertex at the origin and whose base curve 15 2 = 2,
x4yt =4is
e otk égz{m B0k z=2,2% + y2 = 4 gfriBaborr Ko Sogu) Eﬂl)é& ek

Options:

X4 g gl =

X2+ y2 4+ 4z% =

\ 4x% + 4y?% = 72

Question Number : 100 Question Id : 8321476200 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The equation to the enveloping cone of the sphere x® + y2 + 22 4 2x = 2y = 2 with its vertex at
(1L11) s

Qo (1,11) Q& 400 sl ey x” +y7 428+ 2x - 2y = 286 )8) oy

@né&é&aéée&m
Options :
. 3x2 —y2+4zx—6x+2y—4z+6=0
1,
. 3x2+y2+4zx+6x+2y+4z46=0

3x2 —y2+4zx—10x+2y—4z+6=0
3.¢



3x2+y? +4zx+10x+2y—4z+6=0





